N

N

CLOPAY MODEL 3200 (24 GA MIN EXT SKIN} HOLMES MODEL 240, 240G {24 GA MIN EXT REV DATE DESCRIPTION
CLOPAY MODEL 3220 (20 GA MIN EXT SKIN) SKIN) VW 8 /| 1172008 | REVISED JAMB ATTACHMENTS.
il g | 02/2012 | UPDATED WINDCODE CHART
% OPTIONAL 24" x g" DSB GLASS OR INSULATED 5| 08/2012 | REVISED FOR TDI
: i i i GLASS WINDOW LITES. 10| 06/2013 | REMOVED ACRYLIC/WIRE GLAZING. SPECIFIED DIMENSIONS,
: | ] VEW ‘AT TWO . _ OPTIONAL STOP MOULDING BY DOOR INSTALLER (10 SUIT)
% * A i \/ ing POINT teadh SE 16 GA. MiN. GALV. STEEL DOUBLE END STILE
; : LOCKING AR SUE)
5 1/ g 0 BRIy,
i i Y - V4 &4 7 OPTIONAL ALUMINUM FULL VISION
] WINDOW LITE SECTIONS AVAILABLE (
i i ) A % (1/8" DSB, /2" INSUL.). FULL
¥ v y y VISION SECTIONS TO HAVE SAME

REINFORCEMENT AS OTHER SECTIONS.
NOTE

w

o T -l (s

a0 [~ e 2

» FASTENED TO INSIDE SKIN w/(4)
CENTER STILES ALWAYS 22 ATTACHMENT ] S
7 “T\M FROM CENTER TO CENTER. FOR  [i1USTRATINNS #14x5/8" SHEET METAL SCRé&/S. (ViEw "B"}
ANY GIVEN DOOR WIDTH. AND TRACK
< DIMENSION '8’ IS THE LEETOVER DETAILS. 14 GA. GALV, STEEL ROLLER HINGE FASTENED TO

/

LOCATION.
TO BACK OF DOQOR.

[+

DIMENSION ON BQOTH ENDS OF
THE DOOR. THIS DIMENSION

—d

(4) #14x5/8" SHEET
o/ METAL SCEWS

MAX. DOOR WIOTH 202"

22" TYpP l-——

{1) 20 GA.x2" GALV. STEEL BACKER PLATE AT EACH INTERMEDIATE HINGE
BACKER PLATE ATTACHED WITH DOUBLE SIDED ACRYLIC ADHESIVE

ONE 6" C—CHANNEL PER SECTION

WilLL NOT BE CGREATER THAN

/ 33" OR LESS THAN 18"

g
NOTE: DOUBLE TRACK LOW HEADROOM, HI-LIFT
TRACK, FOLLOW-THE—RQOF TRACK, AND VERTICAL
LIFY TRACK ARE AVAILABLE OPTIONS. 3" TRACK

HORIZONTAL TRACK SUPPORY B
DOOR INSTALLER {TO SUIT\S

ALSO AVAILABLE.

12 GA. BRACKET OR
CONTINUOUS ANGLE
MOUNT TRACK FASTENED
WITH ONE 5/16"x1-5/8"
LAG SCREW PER TRACK
BRACKET/CLIP LOCATION,

NOT REQUIR

SIEEL JAMBS

MAY BE BACK—
FILLED WITH
CONCRETE, BUY

12 GA, GALV. REVERSE
OR CONTINUOQUS ANGLE
MOUNT TRACK FASTENED

ED.

DIRECTLY TO STEEL JAMB.

12 GA. BRACKET OR
CONTINUOUS ANGLE MOUNT
TRACK TO 2x6 FASTENED
WITH ONE 5/16"x1-5/8"
{AG SCREW PER TRACK
BRACKET/CLIP LOCATION.

SEE JAMB

14 GA. GALV. STEEL CENTER HINGE

END STILES W/{4) #14x5/8" SHEET METAL SCREWS
AND (2) 1/4"%3/4" SELF TAPPING SCREWS. (VIEW "A™)
2" 10 BALL LONG STEM STEEL ROLLER WITH
STEEL. OR NYLON TIRE LHR TOP BRACKET

DOUB}%ZE HORIZONTAL

JAMB CONFIGURATION

SILICONE FILLED CHANNEL SEPARATES
FRONT AND BACK SKIN OF DDOR

DOUBLE TRACK

l--2” THICK
LOW HEADRQOM OPTION

1.95" THICK, 1# DENSITY
| EXPANDED POLYSTYRENE

BOOR HEIGHT A NUMBER OF FOAM INSULATICN LAMINATED
Up 10 E=0" o — ' ITERIOR SKING. 0
L[ — 1 — P S T =T I e 5 12 G Tl l
e pam 10-3" THRU 120" | & EACH. BRAGKET ATTACHED %(}LIILER#EEQE%{’
(Ti)PF]Iﬁé xéﬁc{ggngLF o L g Al DOOR T HATAL SeRewe RosUsHal 4368 srmachen
] s mo TO TOP BRACKET WITH (2) 1/4"%1/2" BOLTS AND
14 CA. END MINGE 14 _GA, GE&RTSPMTE HINGE 16 —~&° THRU 18 -0 9 E'TJID HBE}EISI '8_8" ! NUTS PER BRAGKET. @) 1/4™1/
VIEW "A" VEW B ,, s 0
— MAX. SECTION HEIGHT: 24 = g—0" 1100 » X
NOTE: THE DESIGN OF THE SUPPORTING - rRACK oN T 1—1/4" WIDE MIN. x 16 GA. GALV. STEEL STRAP,
STRUCTURAL ELEMENTS ARE THE RESPONSIBILITY DOOR WIDTH # OF |§# OF 8 ACK. CONFIGURATIO 170" 136" TONGUE AND (6) PER DOOR SECTION (SEE {NSK?'E ELEVA“ON).
BACKER STRAPS o ey v GROQVE JOINTS EACH STRAP ATTACHED W/(3) 1/4"x3/4" SELF
OF THE PROFESSIONAL OF RECORD FOR THE at 14 ~G"1160 TAPPING SCREWS (TWO TO DOOH. ONE T
BUILDING OR STRUCTURE AND IN ACCORDANCE - ——PLATES I 15—0" 172" ( 00R, ONE TO C~CHANNEL).
WITH CURRENT BUILDING CODES FOR THE 16 ~4" THRU 20-2" | 4 6 - 2” GALV. STEEL TRACK, 1601184
LOADS LISTED ON THIS DRAWING. & o TRACK THICKNESS: .075 L0198, 14 GA. GALV. STEEL ROLLER HINGE. EACH HINGE
JAMB % o FASTENED TO END STILES W/(4-) #14x5/8" SHEET
ATTAGHMENT 3/168" MIN. MAY BE BACK~ CONCRETE  JAMBS Bl VERTICAL TRACK CAN BE EITHER BRACKET MOUNT, CONTINUOUS ] SCREWS AND {2) 1/4"x3/4" SELF TAPPING SCREWS.
ILLUSTRATIONS [ STEEL JAMB FILLED WITH ‘—200C PSI MIN. g 1t} ANGLE OR REVERSE ANGLE TRACK. ALL TRACK BRACKETS AND TRACK (SEE VIEW A)
CONCRETE, BUT conceere £ f CLIPS ARE 12 GA. GALV. STEEL. BRACKETS AND CLIPS ARE )
NOT REQUIRED. 1/47x1=1/2" £ | g By 0 O TRAGK WITH ETTHER TWO 1747 RIVETS O ONE 1/4 = ONE 6" TALL, 16 GA. G—CHANNEL PER DOOR SECTION.
Wi "EMBED S | 240C . {1} 1/4"x3/4" SELF TAPPING SCREW PER END STILE AND
_— TAPCON FASTENER 24 GA. MIN. EXTERIOR STEEL SKIN BACKER PLATE LOCATION. (SEE VIEW "D")
1/8"x1" LONG . s : WITH GALY. BAKED~ON PRIMER
FILLET WELD (E60XX WASHER REQD. AND A BAKED-ON POLYESTER TOP 27 GA. INTERIOR SKIN WITH GALV.,
ELECTRODE MiIN.). WELD 137 MAX. O.C. COAT APPLIED TO BOTH SiDES OF BAKED—ON PRIMER AND A BAKED=QON L .4 - ‘v,
TO BE LOCATED VERTICALLY STEEL JAMB TO SECURE ANGLE STEEL SKIN. POLYESTER PAINTED TOP COAT ARPUEB™' " @ :
ON ANGLE AT 247 TO CONCRETE TO BOTH SIDES OF STREL SKH\‘L-' P & Y% l’
CENTER AND TACK 12 GA. GALV. REVERSE 12 GA. GALV. REVERSE END SUDE BOLT £ R I
SAME SPACING. MOUNT TRACK FASTENED MOUNT TRACK FASTENED e EFI\F{;;B\% KVE?)}-\}EAL ATTACHED WITH (4) #14x5/8°7 QHEET METAL SEREWS. 0 © ¥
DIRECTLY TO STEEL JAMB DIRECTLY 7O CONCRETE. LOADS FOR THE WIND SPEEDS LSTED BELOW {OCK ON ALUMINUM EXTRUSION & VINYL WEATHERTRIE, ~ 22,75 1,7,
. ACCORDING TO THE FLORIDA BLDG. CODE _ 7 DA
2,000 PSt MIN.” CONCRETE WQOD JAMBS . ., OR IBC (ASCE7) FOR THE FOLLOWING EACH SIDE SECTION A-A (SIDE VIEW) 2 7 s
(e /2 s ey v QTR i e |\ e 008 A e s
EMBED SLEEVE 3/16" MIN. % / G 5, ' DE_B : AT SR T N
/ ANCHOR BOLT. WASHER s e/ SELE TAPPING SCREW. 1=1/8" | |30 TE4e it 10+ ) 50 SaFery Factor] LOCK OPTION THE OPTIONAL CLRZNG SHOWN ON THis DRawio MEETS The | DESIGN. ENGINEERY MR AVESTERFIEL B P£.
INCL'D. 168” MAX. O.C. SCREW. DIA. WASHER WIND SPEED (MPH)] £110 1120 | 120] 130 OR INTERNATIONAL BUILDING ¢oDE BUT Does NOT weer e | FLORIDA P.E. #48488° X .- e
: TO SECURE 2x6 207 MAX. Q.C. REQ'D. 18" MAX. EXPOSURE LEVEL |B or CI B C B IMPAGT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS DESIGN LOADS: +gg,i0, ﬁzam;ngr -
JAMB TO CONCRETE. m{;igcgga g-%- ;\Qp S‘ichk};l;?o MEAN ROOF HEIGHT| 30° | 30' | 20°| 30 REGIONS (REF. CHAPTER1S FBC/IBC) TEST LOADS: +37.5, “eQQ RRbw"
X
WOOD JAMB ON_CONCRETE STEEL JAMB. WOOD STRUCTURE. HANUFACTURING PROTUCT Comer

8585 DUKE BLVD.
MASON, OH 45040
(513) 770-4800

y

Building Products

Company

Clopay Corporgtion All Righis Reserved.

CLOPAY BUILDING PRODUCTS COMPANY

MAX, SIZE
20'—-2" X 18'-0"

CLOPAY WINDLUOAD RATING

MPC: C~DSTE~1F447

TATE:
9/12/96 DESCRIPTION:
TRAWN BY: COMM 2" EPS: +25/-28 PSF
MWW
DRAWING NUMBER:
CHECKED BY

B

101682






